=

A cold capsule is 11 mm long and 3 mm |
in diameter. Find, to the nearest cubic

millimeter, the volume of medicine it ffk
contains. 3mm s
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6 A rubber ball is formed by a rubber shell filled with air. The
shell’s outer diameter is 48 mm, and its inner diameter is 42 mm.
Find, to the nearest cubic centimeter, the volume of rubber used
to make the ball.

o'Zq'wuyL

\/R ~\/r‘
dedr — 4537

3 A
3 (4/3)24°n-((4/3)21°r)
yad'm — Yo WML e

S S

Q1A Y >, [Lam 2

Ans/10°
L & |Qope

7 a V;_l,s phere =

%(%ma) Veone = %Bh
Viphere = 3GM(216) = 144n = 2(36m)(8)
Veone = 96
Total volume = 144n + 967 = 240x
b Alphere = % - 4nr2
Alsphere = §(4n)(36) = 72rn

Acone = nré £ = slant height = 10
Acone =m-6-10 (Pythagorean triple 6-8-10)
Aoone = 60

Total surface area = 721 + 60n = 1327



8 & Vhemisghero = 3Vephere DA O = 2
= 5Gmd) AQ = n(30)2
= %n:(3033 AO = 900n~2827 sqm
= 27(27,000)

Vhemigphem = 18,000r = 56,549 cu m
1
¢ Ahemisphere = EA sphere

= 51(41:1'2)
= 2m(30)%
%emisphere = 1800t sqm,A® =900rsqm

Twice as much paint is needed to cover the area of the

hemisphere.
d 1800% = mr?
1800 = r2

T = 3W§=42m



